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A thin conducting square with A= Q; --10.0 u C, L=20w

we have to €ind E above the square at distance 2 = 1 or 2 cm << , thus we use
Ex. 58 in the book, ignore eo\ﬂes and reaize the field is perpendicular to the square
(away £rom the eo\ﬂes). For the disk in Ex. 5.8
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for the square in the xy-plane. It is & conductor, the charﬂe is distributed on both sides
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\n next chapter we see this £or an infinite cono\uc‘r'\ng

x‘7 plate with surface charge
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c) Same answers as before as the electric field does not chanae with distance

d) The work by the force, when -e is moved from 2 —> Z 2

it is positive due to the repulsive force
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nfinite line charjes, {ind the field at ¢ and Qz
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\-06-5Y4 nfinite cﬁl\r\o\er with space charﬂe o\ens\‘rtj g

we use Gaup to find E inside and outside the cgl\no\er (it can not be cono\ucﬂnﬁ
i€ it has a charﬁe distribution of this kind)
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& E'm surface 'xn’reﬁrél, we select a concentric Ctjl'knc\er

So surface at which E must be constant due to the
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In © = R E(r) s continuous, but the derivative is not due to the step in the distribution
at the surface
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At the surface of a seherical conductor the field is E - ﬁ-l_ 2
c
In equilibrium the £ield close to a surface of a conductor is Perpend'\cular to it

and
o

Can we et these facts to be in agreemenﬁ.
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